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PHILOSOPHY/A100201T-B/75

Who thinks that substance is to be defined
by active force?

(A) Berkeley
(B) Leibnitz
(@) Hume

(

D) None of the above

Descartes' assertion that - | have an idea of
a most perfect being is a premise of which
argument?

(A) Cosmological argument
(B) Ontological argument
(C) Argument from design
D) Moral argument

Which of the following method was adopted
by Kant?

(A) Inductive
(B) Deductive
€ Empirical

D) Transcendental

Which of the following model was adopted
by Descartes for his philosophical method?

(A)

(B) Mathematics

©)

D) Arts

The empiricists adopted which of the
following model as their methods?

A) Mathematics

Religion

Sociology

(

(B) Natural Science
€ Religion

D) None of the above
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10.
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Who said, "there is no form without matter
and no matter without form"?

(A) Leucippus
(B) Plato

€ Socrates
D) Aristotle

Who among the following discovered four
causes that govern change in everything?

A
B

Plato

Avristotle

O

(A)
(B)
©) St. Augustine
D) St. Anselm

According to which of the following,
'knowledge is virtue and ignorance is vice'?

(A) Thales
(B) Plato

€ Socrates
(

D) Pythagoras

Who was the mentor of Aristotle?
(A) Plato

(B) Socrates
() Academy
D) Lyceum

The theory of forms or ideas is the
philosophy of :
(A) Aristotle

(B) Plato
€ Thales
D) Pythagoras
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1. According to Hume, the laws of science are  11.
based on which of the following?
(A) Relations of ideas
(B) Matters of fact
© Both (A) and (B)
D) None of the above
12. Which of the following arguments was 12,
refuted by Hume for the existence of God ?
(A) Teleological Argument
(B) Cosmological Argument
(C) Moral Argument
D) All of the above
13. According to Kant, which of the following  13.
theories are dogmatic?
(A) Empiricism
(B) Rationalism
©) Both (A) and (B)
D) None of the above
14. "Precepts without concepts are empty,  14.
concepts without precepts are blind" — this
is the statement of which of the following?
(A) John Locke
(B) Bishop Berkeley
(C) Immanual Kant
D) Descartes
15. According to Kant, the knowledge of  15.
causation is due to which of the following?
(A) Sensation
(B) Intuition
(C) Reason
D) None of the above
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Which of the following is associated with
Hume?

(A) Rationalism
B) Idealism
) Scepticism
(

D) None of the above

Which of the following is not a type of
substance according to Locke?

(A) Matter
(B)  Self
€  God
D) Planet

The philosophy of Advaita of Shankar is
compared with the philosophy of which of
the following?

(A) Kant
(B) Hume
©) Spinoza

D) Descartes
Which of the following is associated with
Immanual Kant?

(A) Rationalism
(B) Criticism
€ Empiricism
(

D) None of the above

Who admits innumerable spiritual atoms?
(A
(B
(
D

) Hegel

) Kant

) Leibnitz

) All of the above
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21. Which one of the following is the stand point 21,
of Locke regarding primary and secondary
qualities?
(A) Primary qualities are created by God
(B) Secondary  qualities  are
represented in experiences
(C) Primary and secondary qualities are
distinct from logical point of view

D) Primary qualities are objective
while secondary qualities are
subjective

22. Whatis the distinctive feature of innate ideas? ~ 22.
(A) Universality
(B) Necessity
(9] Indubitability
D) Certainty

23. What is the aim of Berkeley's philosophy?  23.
(A) Refutation of Materialism
(B) Establishment of Idealism
©) Refutation of Materialism and

establishment of Idealism
(D) Proving the existence of God

24, According to Berkeley, sensation arises 24,

due to :
(A) God
(B) Reason
© Self
D) Mind

25. Hume refutes the independent existence of ~ 25.

which of the following?

(A) Matter

(B) Self

©) God

D) All of the above
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According to Kant, the judgements of
Philosophy come under which category?

(A) Synthetic

(B) Apriori

€ Both (A) and (B)
(

D) None of the above

Which of the following problems are
discussed in Kant's critical theory?

(A) Sources of knowledge
(B) Objects of knowledge
©) Limits of knowledge
D) All of the above

Kant's criticism comes under which of the
following?

(A
B
C
D) Axiology

Epistemology

)
) Metaphysics
) Ethics

The philosophical method of Descartes is

known as :
(A) Scepticism
B) Cogito method
€

(

D) None of the above

Mysticism

The climax of empiricism is found in the
philosophy of which thinker?

(A) Hume
(B) Locke
€ Berkeley
D) Aristotle
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31. How many categories of understanding has ~ 31.
been accepted by Kant?
(A) 12
(B) 10
(C 08
D) 04
32. Plato was a disciple of which among the  32.
following?
(A) Aristotle
(B) Cicero
€ Socrates
D) Polybius
33. Which of the following is Plato's famous  33.
work?
(A) The Lyceum
(B) The Prince
©) The Republic
D) None of the above
34. Which of the following is a fundamental idea  34.
of Plato?
(A) Theory of Education
B) The Ideal Man
©) Theory of Justice
D) All of the above
35. Who said, theory of truth lies in the theory of ~ 35.
ideas?
(A) Aristotle
(B) Pythagoras
(C) Plato
D) Socrates
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Who among the following severely criticised
Plato's theory of ideas?

(A) Pythagoras

(B) Aristotle

€ Socrates

D) All of the above

Both Plato and Aristotle accept which of the
following?

(A) Idealism
(B) Realism
©) Materialism
(

D) Rationalism

According to Descartes, which of the
following is the essential feature of matter?

(A) Extention

(B) Thought

(©) Both (A) and (B)
(

D) None of the above

Which of the following is associated with
Leibnitz?

(A) Monist
(B) Dualist
(C) Pluralist
(

D) Pantheist

Which of the following is the essential
attribute of self, according to Descartes?

(A) Extention
(B) Thought
(@) Motion
D) Doubt
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41, What are the types of ideas acceptable to  41.
Descartes?
(A) Adventitious
(B) Fictitious
€ Innate
D) All of the above
42. According to Locke, complex ideas are  42.
created by which of the following?
(A) Sensation
(B) Reflection
(C) Sense organs
D) None of the above
43. According to Hume, God is not the object ~ 43.
of which of the following ?
(A) Sense experience
(B) Reason
©) Both (A) and (B)
D) None of the above
44, In Kant's philosophy, the self is considered  44.
as:
(A) Knower
(B) Knowledge
(@) Knowable
D) None of the above
45. The famous statement-"An unexamined life  45.
is not worth living" is attributed to which of
the following?
(A) Avristotle
(B) Locke
©) Socrates
D) Plato
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Who says - Ideas are of two types, simple
and complex?

(A) Locke
(B) Spinoza
(C) Hume

D) None of the above

"The law of sufficient reason' is associated
with which of the following?

(A)  Plato

(B) Locke
€ Berkeley
D) Leibnitz

Who claims substance as 'one and infinite'?

(A) Descartes
(B)  Leibnitz
©) Spinoza
D) Hegel

According to Kant, which of the following
judgements are always 'aposteriori'?

(A) Analytic

(B)  Ethical

©) Synthetic

D) None of the above

Psycho-physical parallelism is a theory of :
A) Descartes

B Leibnitz

(
(B)
(@) Spinoza
(D)

D None of the above
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51.

52.

3.

54.

95.

According to Descartes, the idea of God  51.

is :

(A) Finite

(B) Fictitious

€ Innate

D) None of the above

Who introduced the term 'Natura Naturata'? ~ 52.

(A) Spinoza

(B)  Leibnitz

€ Kant

D) Descartes

Who propounded the theory of 'Parallelism'?  53.

(A) Hegel

(B) Spinoza

©) Kant

D) Leibnitz

Who among the following is a monist? 4.

(A) Descartes

(B) Spinoza

©) Leibnitz

D) Hume

Which of the following pairs is incorrect? 55.

(A) Descartes - Pluralist

(B) Leibnitz - Dualist

(@) Hume - Rationalist

(D) All of the above
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58.
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Who among the following is known as the  56.

father of modern western philosophy?

(A) Francis Bacon
(B) Hegel

(C) Descartes

D) Immanual Kant

The theory that holds reason as the source  57.

of knowledge is :

(A) Idealism

(B) Rationalism

€ Empiricism

D) None of the above

Inborn ideas are known as : 58.
(A) Adventitious ideas

(B) Fictitious ideas

(C) Innate ideas

(D) All of the above

'Metaphysics' is the work of : 59.
(A) Socrates

(B) Plato

€ Aristotle

(D) Thales

Who is the author of 'Republic'? 60.
(A Socrates

C
D

)

(B) Descartes
) Plato
)

Hume
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61. Who suggests that idea of substance isa  61.
complex idea?
(A) Spinoza
(B) Berkeley
(@) Hume
D) Locke
62. On what ground Berkeley rejects Locke's  62.
distinction between primary and secondary
qualities?
(A) All qualities are subjective
(B) Only secondary qualities are
subjective
€ Qualities are created by God
D) Qualities inhere in substance
63. Who among the following talks about the  63.
categories of understanding?
(A) Descartes
(B) Hume
©) Kant
D) Spinoza
64. According to which philosopher, ‘causation  64.
is merely a psychological relation'?
(A) Kant
(B) Berkeley
€ Hume
D) None of the above
65. Who rejects self as a substance? 65.
(A) Kant
(B) Descartes
(C) Hume
D) Spinoza
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67.

68.

69.

70.
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Whose rationalism is heightened by
Spinoza?

(A) Hume

(B) Berkeley

(9] Descartes

D) None of the above

Who said 'substance is the product of human

imagination'?
A Spinoza

C

(A)

(B) Descartes
©) Locke
(

D) Hume

Who among the following is not an empiricist?

(A) Leibnitz
(B) Hume
(9] Locke
D) Berkeley

'Mind is tabula rasa' - is a statement of :

(A) Spinoza
(B) Locke
) Berkeley
D) Hume

According to Locke, colour is a .
A

( Primary Quality
(B

(

(

(@)

)

) Secondary Quality
) Both (A) and (B)
)

D None of these
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1. 'Meditations' is the work of : 1.
(A) Kant
(B) Descartes
©) Spinoza
D) None of the above
72. Who propounded thetheory of Interactionism ~ 72.
on the problem of mind and body?
(A) Hume
(B) Berkeley
©) Descartes
D) Kant
73. Who among the following is not a  73.
representative of rationalism?
(A) Kant
(B) Spinoza
©) Descartes
(D) All of the above
74. Who introduced the concept of 'cogito ergo  74.
sum'?
(A) Spinoza
(B) Leibnitz
©) Kant
D) Descartes
75. According to Descartes, which one of the  75.
following is an absolute substance?
(A) Mind
(B) Soul
©) God
D) None of the above
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76.

7.

78.

79.

80.
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'Subjective Idealism' is propounded by
which one of the following?

A
B

( Kant
(

C

(

)

) Berkeley
) Hegel

D) None of the above

The statement - 'esse est percipi' is related
to:

(A Locke
B

C
(

D) Hume

)

) Berkeley
) Descartes

Which one of the following pairs is correct?
A
B

Locke - Innatism
Berkeley - Immaterialism

)
)
) Descartes - Empiricism
)

—_ =~ = =
O

D Hume - Idealism

According to Locke, how many substances
are there?

(A) One
(B) Two
(@) Three
D) Four

Who wrote - 'An Essay Concerning Human
Understanding'?

(A) Spinoza

(B) Descartes

©) Locke

D) None of the above

76.

7.

78.

79.

80.

(18)

‘EFIT Tegare’ 7 § 9 fhed awivad
77

(A ®re
(B) sl
€ &
D) Wi ¥ § Hig 7l

‘T & Tl B - I8 U had g

¥

(A) B

B) T

©

o) =

ko R A O B o B A
A) % - GeaE

B) @ - AfHaE

(C) 3PN - FPHEEE

0 =¥ - fErEE

% & AIAR ZAl & fhad THR &7
A TH

® @

C) o

O) =]

U T FAT GH TET &
R B &Y

A fegseT

B) BN

C d®

D) ST F | B el



81. Who propounded the theory of Pantheism? 81,
(A) Nagarjuna
(B)  Leibnitz
(©) Spinoza
D) Hume
82. Which of the following was propounded by  82.
Leibnitz?
(A) Interactionism
(B) Parallelism
(@) Pre-established harmony
D) None of the above
83. Which of the following is not the salient 83,
feature of monads according to Leibnitz?
(A) Eternity
(B) Windowlessness
©) Indivisibility
D) Immobility
84. Who said - Monads are the 'living mirror of 84,
the universe'?
(A) Descartes
(B) Spinoza
€ Leibnitz
D) Hume
85.  Who propounded the 'argumentfromthe law g5
of continuity' for the existence of God?
(A) Spinoza
(B)  Leibnitz
©) Descartes
D) Kant
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86.

87.

88.

89.

90.
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Who among the following recognises mind
and matter as relative substances which are
created by God?

(A) Kant

(B) Descartes
©) Hegel

D) Leibnitz

Who believes that there are no innate ideas
in the mind?

(A) Plato
(B) Spinoza
(9] Kant

(D) Locke

Who among the following is obsessed with
the intellectual love of God?

(A) Spinoza
(B) Leibnitz
©) Kant

D) Descartes

Who among the following said, only mind
and their ideas exist?

(A) Hume
(B) Leibnitz
(@) Spinoza

(D) Berkeley

Which of the following is the primary aim of

Descartes' philosophy?

(A) To explain the relation between
mind and body

(B) To prove the existence of God

©) To refute the reality of the external
world

D) To reach to a clear and distinct
knowledge
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91. According to which of the following, all the ~ 91.
ideas related to knowledge are innate?
(A) Descartes
(B) Spinoza
) Leibnitz
D) Locke
92. As an empiricist thinker, Locke claims that  92.
all our knowledge is derived either through
sensationor .
(A) Perception
(B) Reflection
€ Thinking
D) None of the above
93. Who among the following is a French 93,
philosopher?
(A) Kant
(B) Descartes
©) Plato
D) Aristotle
94. 'Monadology' is the work of : 94.
(A) Kant
(B) Descartes
(9] Leibnitz
D) Hegel
95. Which of the following is not the work of Kant?  95.
(A) Critique of Pure Reason
(B) Critique of Practical Reason
©) Meditations
D) None of the above
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96.

97.

98.

99.

100.
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According to whom, matter is an Abstract
idea?

(A
B
C
D

) Hume

) Leibnitz

) Spinoza

) Berkeley

Cogito method is adopted by :

(A) Spinoza
(B) Kant

(@) Descartes
D) Hume

Who claims that substance is the aggregate
of qualities?

(A) Hume
(B) Locke
©) Kant

D) Hegel

Who made the distinction between
impressions and ideas?

(A) Kant

(B) Locke
(@) Hume
(D) Berkeley

Who talks about 'Pineal gland' for mind-body
interaction?

(A
(B
©
D

) Kant

) Locke
) Berkeley
)

Descartes
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,

pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.
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